Informational Report for the June 21, 2016, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division		Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Last Name	i ii st ivaine	1411	Oite	District	Duties	DIVISION		Nate	Waxiiiuiii	Amount	Deg. Date	Life Date
Chabot College	·	i i	_								· ·	
Alvarado	Claudia	A.	Chabot	Yes	Serve as Project Aide for the Summer Sports Program	Special Programs and Services	\$	11.72	61	\$ 714.92	6/16/2016	6/30/2016
Alvarado					Serve as Project Aide for the	Special Programs and						
Alvarado	Claudia	A.	Chabot	No	Summer Sports Program	Services	\$	11.72	67	\$ 785.24	7/1/2016	7/21/2016
Anand	Jasleen	J.	Chabot	No	Support and guide new students utilizing of InReach Program	Academic Services	\$	12.00	375	\$ 4,500.00	3/16/2016	6/30/2016
7 11 151 151	330.0011		0.13.50	110	Assist with Summer Law	Career Pathways			0.0	ψ 1,000100	6/16/2010	3,33,23.3
Araujo	Crystal	R.	Chabot	Yes	Institute program	Trust	\$	20.00	100	\$ 2,000.00	6/13/2016	6/30/2016
					Assist with Summer Law	Career Pathways						
Araujo	Crystal	R.	Chabot	No	Institute program	Trust	\$	20.00	150	\$ 3,000.00	7/1/2016	8/12/2016
					AMENDED HOURS: Implement college and career	Student						
Campbell	Arvanderlyn	R.	Chabot	No		Services	\$	40.00	650	\$ 26,000.00	7/1/2016	12/30/2016
Chan-Barrios	Emily	K.	Chabot	No	AMENDED HOURS: Perform specialized projects for the CalWORKs program	CalWORKs	\$	50.00	650	\$ 32,500.00	7/1/2016	12/30/2016
					Provide specialized projects for	President's						
Collins-McMurray	Amauri	C.	Chabot	No	the President's Office	Office	\$	20.00	520	\$ 10,400.00	7/1/2016	12/31/2016
					ADDITIONAL HOURS: Added 30 additional hours to previous PAF. Provide specialized projects for the President's	President's						
Corbett	Ellen	M.	Chabot	No	Office	Office	\$	130.00	110	\$ 14,300.00	2/1/2016	2/29/2016
					Serve as Project Aide for the	Special Programs and						
Cortez-Barragan	Eduardo	nmi	Chabot	No	Summer Sports Program	Services	\$	11.72	61	\$ 714.92	6/16/2016	6/30/2016
Cartas Dames	Education		Chahat	No	Serve as Project Aide for the	Special Programs and	•	44.70	2-	Ф 705.04	7/4/0040	7/04/0040
Cortez-Barragan	Eduardo	nmi	Chabot	No	Summer Sports Program	Services	\$	11.72	67	\$ 785.24	7/1/2016	7/21/2016

Informational Report for the June 21, 2016, Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Hourly Rate			Maximum Amount	Assign Beg. Date	Assign End Date
Demetrius	Bruce	G.	Chabot	Yes	Lead musician for Haitian dance	Health, Kinesiology, and Athletics	\$ 30.00	32	\$	960.00	1/19/2016	5/31/2016
Gallegos	Aivanna	L. M.	Chabot	Yes	Serve as Project Aide for the Summer Sports Program	Special Programs and Services	\$ 11.72	61	\$	714.92	6/16/2016	6/30/2016
Gallegos	Aiyanna	L. M.	Chabot	No	Serve as Project Aide for the Summer Sports Program	Special Programs and Services	\$ 11.72	67	\$	785.24	7/1/2016	7/21/2016
Genera	Santiago	M.	Chabot	Yes	Serve as Project Aide for the Summer Sports Program	Special Programs and Services	\$ 11.72	61	\$	714.92	6/16/2016	6/30/2016
Genera	Santiago	M.	Chabot	No	Serve as Project Aide for the Summer Sports Program	Special Programs and Services	\$ 11.72	67	\$	785.24	7/1/2016	7/21/2016
Gonzalez	Briana	D.	Chabot	No	Assist with the TAACCCT Grant	Student Services	\$ 16.00	300	\$	4,800.00	4/1/2016	6/30/2016
Gutierrez	Ana	A.	Chabot	No	AMENDED HOURS: Provide support to families attending the Early Childhood Development lab for Hayward Promise Neighborhood program	Early Childhood Development Program	\$ 44.00	650	\$	28,600.00	7/1/2016	12/30/2016
Hall	Dezire	D. S.	Chabot	Yes	Serve as Project Aide for the Summer Sports Program	Special Programs and Services	\$ 11.72	61	\$	714.92	6/16/2016	6/30/2016
Hall	Dezire	D. S.	Chabot	No	Serve as Project Aide for the Summer Sports Program	Special Programs and Services	11.72	67	Ψ \$	785.24	7/1/2016	7/21/2016
Haney	Victoria	A.	Chabot	No	AMENDED HOURS: Develop and implement curriculum enrichment workshops and courses for Hayward Promise Neighborhood program	Hayward Promise Neighborhood	\$ 30.00			19,500.00	7/1/2016	12/30/2016

Informational Report for the June 21, 2016, Board of Trustees Meeting

00.00 3/16/2016	6/30/2016
00.00 3/16/2016	6/30/2016
50.00 7/1/2016	12/30/2016
00.00 1/4/2016	6/30/2016
20.00	12/31/2016
	7/21/2016
70.00 0/10/2010	1/21/2010
40.00 1/19/2016	5/31/2016
14.00	6/30/2016
300 310 310 310 310 310 310 310 310 310	714.92 6/16/2016 785.24 7/1/2016 700.00 7/1/2016

Informational Report for the June 21, 2016, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division		Hourly Rate			imum nount	Assign Beg. Date	Assign End Date
Tompkins	Brianna	M.	Chabot	No	Serve as Project Aide for the Summer Sports Program	Special Programs and Services	\$	11.72	67	\$ 78	35.24	7/1/2016	7/21/2016
·	Machiiwa Choki				Serve as lifeguard for Summer	Special Programs and							
Valle	Not'Tek	nmi	Chabot	Yes	Your Sports Program	Services	\$	15.00	46	\$ 69	90.00	6/16/2016	6/30/2016
Valle	Machiiwa Choki Not'Tek	nmi	Chabot	No	Serve as lifeguard for Summer Your Sports Program	Special Programs and Services	\$	15.00	54	\$ 81	10.00	7/1/2016	7/21/2016
Vazquez	Oscar	M.	Chabot	No	Serve as Project Aide for the Summer Sports Program	Special Programs and Services	\$	11.72	61	\$ 71	14.92	6/16/2016	6/30/2016
Vazquez	Oscar	M.	Chabot	No	Serve as Project Aide for the Summer Sports Program	Special Programs and Services	\$	11.72	67		35.24	7/1/2016	7/21/2016
Ward	Precious	Α.	Chabot	No	AMENDED HOURS: Support development of Foster Youth Program	Child Development Center	\$	45.00		\$ 29,25	50.00	7/1/2016	12/30/2016
valu	1 1001000	, v.	Chabot	110	i regiam	Joine.	Ψ	10.00	000	Ψ 20,20	,0.00	77172010	12/00/2010
Las Positas College	e - Community Educa	ation	1	ı	1	1	ļ				'	,	
Bell	I. Patricia	nmi	Las Positas	No	Teach Voiceover and career classes	Community Education	\$	30.00	50	\$ 1,50	00.00	4/1/2016	6/30/2016
Broida	David	F.	Las Positas	No	Teach Music classes	Community Education	\$	30.00	25	\$ 75	50.00	4/1/2016	6/30/2016
Giacomazzi	James	A.	Las Positas	No	Teach physical activity/wellness classes	Community Education	\$	30.00	50	\$ 1,50	00.00	4/1/2016	6/30/2016
Morgan	Clarence	nmi	Las Positas	No	Teach physical activity/wellness classes	Community Education	\$	30.00	50	\$ 1,50	00.00	4/1/2016	6/30/2016
Ruddle	Kathlyn	G.	Las Positas	No	Teach Art classes	Community Education	\$	40.00	50	\$ 2,00	00.00	4/1/2016	6/30/2016

Informational Report for the June 21, 2016, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate		Maximum Amount	Assign Beg. Date	Assign End Date
Lust Hame	i ii st italiic	1411	Oite	District	Duties	DIVISION	Nate	Waxiiiaiii	Amount	Deg. Date	Life Date
Las Positas College	1		1		,	1		, ,			
Kennedy	Anne	K.	Las Positas	No	Provide workbased learning support for Business & Entreprenuership programs	Career Education and Training	\$ 35.00	480	\$ 16,800.00	7/1/2016	12/31/2016
MacLean	Jill	C.	Las Positas	No	Provide workbased learning support for Information, Communication and Technology programs	Career Education and Training	\$ 35.00	480	\$ 16,800.00	7/1/2016	12/31/2016
O'Neill-Opipari	Jean	C.	Las Positas	No	Provide workbased learning support for Public Safety and Health Sciences programs	Career Education and Training	\$ 35.00	480		7/1/2016	12/31/2016
Seipel	Susan	K.	Las Positas	Yes	Provide specialized support in all levels of Math for students with disabilities	Disabled Student Programs and Services	\$ 28.00	278	\$ 7,784.00	6/13/2016	6/30/2016
Shill	Caryl	A.	Las Positas	No	Provide workbased learning support for Advanced Manufacturing & Transportation programs	Career Education and Training	\$ 35.00	480	\$ 16,800.00	7/1/2016	12/31/2016